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1. Using the graph shown below, assume that free trade existed in this country before the

government imposed an import quota of 20 hammers. Answer the following questions

using the notation given in the graph (e.g., P1,Q1, area A, B, or A+B, quantity Q2-Q1, etc.)
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. What is the price of hammers before the quota is imposed? (2 points)

What is the price of hammers after the quota is imposed? (2 points)

What is the quantity of hammers imported before the quota? (2 points)
What is the quantity of hammers imported after the quota? (2 points)
What is the amount of consumer surplus before the quota? (2 points)
What is the amount of consumer surplus after the quota? (2 points)

What is the amount of producer surplus before the quota? (2 points)

What is the amount of producer surplus after the quota? (2 points)

What would be the amount of deadweight loss due to the quota? (2 points)

How does an import quota differ from an equivalent tariff? (2 points)
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2. Using a supply and demand diagram, demonstrate how a negative externality (e.g.
pollution) leads to market inefficiency. (10 points) How might the government help to
eliminate this inefficiency? (10 points)

3. Arecent flood in the Midwest has destroyed much of the farmland that lies in fertile
regions near the rivers.
a. Describe the effect of the flood on the marginal productivity of land, labor, and capital.
(10 points)
b. How would the flood affect the price of land, labor, and capital ? (10 points)

4. In a simple economy, people consume only 2 goods, food and clothing. The market basket
of goods used to compute the CPI has 50 units of food and 10 units of clothing.

food clothing
2002 price $4 $10
2003 price $6 $20

a. What is the percentage increase in the price of food? (5 points) And what is the
percentage increase in the price of clothing? (5 points)
b. What is the percentage increase in the CPI? (5 points)

¢. Do these price changes affect all consumers to the same extent? Explain. (5 points)

5. Teenage unemployment is higher than unemployment of people ages 20 and over. Explain
why economists would attribute at least part of this difference to minimum-wage laws.
(Hint: who is likely to get paid more?) (20 points)



